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Instructions : (1) All questions are compulsory.
(2) Hlustrate your answers with neat and labelled diagrams.

(3) Figures on the right side indicate marks of sub-questions.

1.  (A) Describe : Numerical Taxonomy. 6
(B) Describe : Principles, merits and demerits of Hutchinson’s system of classification. 6
(C) Answer briefly : 2
(1) State the name and location of the world’s largest botanical garden.
(2) What is the principle of priority ?
OR
(A) Describe : Engler and Prantl’s system of classification.
(B) Describe : Typification.
(C) Answer briefly :
(1) What is Chemotaxonomy ?

(2) Give the name of the Russian taxonomist.

2. (A) Give the classification and general characters of any two of the following families.
Give the scientific names and uses of any two economically important plants from
these families : 12

Menispernaceae, Sapotaceae, Polygonaceae, Cannaceae
(B) Answer briefly (any two) : 2
(1) Describe the androecium in Asclepiadaceae.
(2) Give the classification of family Unbelliferae.
(3) What is ‘Androgynophore’ ?
(4) Give the classification of Meliaceae family.
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3. (A) Describe : Apomixis

(B) Describe : Types of Endosperm
(C) Answer briefly :

(1) What is a ‘Palynogram’ ?

(2) What is the application of Palynology in Taxonomy ?

OR

(A) Describe the germination of the pollen tube and the factors affecting it.
(B) Describe : Embryo development in Dicots
(C) Answer briefly :

(1) What is the application of Palynology in forensic science ?

(2) Give the main difference between Dicot and Monocot type of embryo
development.

4. (A) Describe : Leaf-fall
(B) Describe any two types of root-stem transition.
(C) Answer briefly :
(1) What is Quiescent zone ?
(2) What type of vascular bundles are found in root ?
OR
(A) Describe : Secretory tissue system
(B) Describe the development of root hair.
(C) Answer briefly :
(1) What is Transition zone ?
(2) Give the name of the absorbing tissue in maize seed.

5. (A) Discuss the anomalous secondary growth in Boerhaavia stem.
(B) Explain anomalous secondary growth in Carrot root.
(C) Answer briefly :
(1) From which tissue is accessory cambium formed in Mirabilis stem ?
(2) Define Medullary bundles.
OR
(A) Describe : Abnormal secondary growth in Rapharus.
(B) Describe : Anomalous secondary growth in Achyranthes stem.
(C) Answer briefly :
(1) Give only a diagrammatic labelled sketch of Beet root.
(2) Whatis “Interxylary phloem’ ? Give an example.
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